
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk
lkekU; vè;;u

(tqykbZ eSx”khu tk¡p ijh{kk)
fnukad& 09-07-2023

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 

esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10.	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	 tYyhdV~Vw ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 o"kZ 2016 esa mPpre U;k;ky; ds }kjk tYyhdV~Vw 
ij çfrca/ yxk fn;kA

	 2.	 tYyhdV~Vw ikjaifjd :i ls rfeyukMq esa iksaxy 
iQly mRlo ds fgLls ds :i esa euk;k tkrk gSA

	 3.	 tYyhdV~Vw rfeyukMq ds rVh; bykdksa esa dhpM+ 
vkSj dhpM+ ls Hkjs [ksr esa vk;ksftr dh tkus okyh 
,d ikjaifjd cSyksa dh nkSM+ gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ Hkh ugha

	 2-	i'kq Øwjrk fuokj.k vf/fu;e] 1960 ls lacaf/r 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bl vf/fu;e dh /kjk&4 ds rgr o"kZ 1982 esa 
Hkkjrh; i'kq dY;k.k cksMZ dh LFkkiuk dh xbZA

	 2-	 ;g vf/fu;e oSKkfud mn~ns';ksa ds fy;s tkuojksa 
ij ç;ksx ls lacaf/r fn'kk&funZs'k çnku djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 3.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%  

		 dFku&I % mPpre U;k;ky; ds }kjk fookg vifjorZuh; 
:i ls VwVus ds ekeyksa esa fganw fookg vf/fu;e] 1955 
ds rgr vfuok;Z N% eghus dh çrh{kk vof/ dks ekiQ 
fd;k tk ldrk gS vkSj ekeyksa dks ikfjokfjd vnkyr 
dks lanfHkZr fd;s fcuk gh fookg foPNsn dh vuqefr  
nh tk ldrh gSA

		 dFku&II % fganw fookg vf/fu;e] 1955 dh /kjk&14 
;kfpdkdÙkkZ dks vlk/kj.k dfBukbZ ;k çfroknh dh vksj 
ls vlk/kj.k Hkz"Vrk ds ekeys esa tYn gh rykd dh 
;kfpdk dh vuqefr nsrh gSA 

	 	mi;ZqDr dFkuksa ds ckjs esa] fuEufyf[kr esa ls dkSu&lk 
,d lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k gS 

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k ugha gS 

	 (c)	 dFku&I lgh gS] fdarq dFku&II xyr gS 
	 (d)	 dFku&I xyr gS] fdarq dFku&II lgh gS

	 1.	 With reference to Jallikattu, consider the following 
statements:

	 1.	 Jallikattu was banned by the Supreme Court 
in the year 2016.

	 2.	 Jallikattu is traditionally celebrated as part of 
the Pongal harvest festival in Tamil Nadu.

	 3.	 Jallikattu is a traditional buffalo race held in 
fields filled with slush and mud in the coastal 
areas of Tamil Nadu.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 2.	 Consider the following statements regarding the 

Prevention of Cruelty to Animals Act, 1960:
	 1.	 The Animal Welfare Board of India was 

established in the year 1982 under section-4 
of this act.

	 2.	 This act provides guidelines regarding 
experiments on animals for scientific purposes.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 3.	 Consider the following statements:
		  Statement-I : The Supreme Court may waive the 

six-month waiting period mandated under the 
Hindu Marriage Act, 1955 in cases of irrevocable 
breakdown of marriage and allow divorce without 
referring the matter to a family court.

		  Statement-II : Section 14 of the Hindu Marriage 
Act, 1955 permits the petitioner to file for early 
divorce in cases of extraordinary hardship to the 
petitioner or extraordinary depravity on the part of 
the respondent.

		  With respect to the above statements, which one of 
the following is correct?

	 (a)	 Both Statement-I and Statement-II are correct 
and Statement-II is the correct explanation for 
Statement-I

	 (b)	 Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

	 (c)	 Statement-I is correct but Statement-II is 
incorrect

	 (d)	 Statement-I is incorrect, but statement-II is 
correct
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	 4-	fuEufyf[kr jkT;ksa ij fopkj dhft;s%

	 1-	 fgekpy çns'k	 2-	eè; çns'k
	 3-	 rfeyukMq	 4-	mÙkj çns'k

	 	mi;ZqDr esa ls fdrus jkT;ksa esa Hkkjr ljdkj us çksMD'ku 
fyaDM balsafVo ;kstuk ds dk;kZUo;u ds rgr fpfdRlk 
midj.k ikdks± dh LFkkiuk dks eatwjh çnku dh gS\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 dsoy rhu	 (d)	lHkh pkj

	 5-	vè;kns'k ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 jk"Vªifr }kjk ç[;kfir vè;kns'k dh oS/rk blds 
ç[;kiu dh rkjh[k ls N% lIrkg vkSj vf/dre 
N% eghus rd gksrh gSA

	 2-	 U;k;ky; ds vuqlkj] ,d vè;kns'k laln ds 
vf/fu;e ds leku laoS/kfud lhekvksa ds v/hu 
gS vkSj lafo/ku ds fdlh Hkh ekSfyd vf/dkj ;k 
vU; çko/kuksa dk mYya?ku ugha dj ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	 6-	jkT;iky }kjk cgqer ijh{k.k ds fy;s cqykus ls lacaf/r 
laoS/kfud çko/kuksa ds lanHkZ esa] fuEufyf[kr dFkuksa ij    
fopkj dhft;s%  

	 1-	 vuqPNsn&175(2) ds vuqlkj] ljdkj ds ikl la[;k 
cy gS ;k ugha] ;g lkfcr djus ds fy;s jkT;iky 
lnu dks cqyk ldrk gS vkSj cgqer ijh{k.k  ds 
fy;s dg ldrk gSA  

	 2-	 tc lnu l=k esa gksrk gS rks dsoy fo/kulHkk 
vè;{k cgqer ijh{k.k ds fy;s cqyk ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	 7.	 Hkkjr esa xjhch js[kk dh vo/kj.kk ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 jaxjktu lfefr ds vuqlkj] o"kZ 2017 esa xjhch js[kk 
dk fu/kZj.k xzkeh.k bykdksa esa 112 #i, çfrfnu 
fu/kZfjr fd;k x;kA

	 2.	 o"kZ 2011 esa 21.9% Hkkjrh;ksa dks jk"Vªh; xjhch 
js[kk ls uhps jgus okyk ekuk tkrk FkkA

	 3.	 xjhch js[kk dks vk; ds ml U;wure Lrj ds :i 
esa ifjHkkf"kr fd;k tk ldrk gS] tks ifjokj ds 
thou dh ewyHkwr vko';drkvksa dks iwjk djus esa 
l{ke gksA

	 4.	 Consider the following states:
	 1.	 Himachal Pradesh	 2.	 Madhya Pradesh
	 3.	 Tamil Nadu	 4.	 Uttar Pradesh
		  In how many of the above states has the 

Government of India approved the setting up of 
Medical Device Parks under the implementation 
of the Production Linked Incentive Scheme?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 5.	 With reference to the Ordinance, consider the 

following statements:
	 1.	 The validity of an ordinance promulgated by 

the President is six weeks and a maximum of 
six months from the date of its promulgation.

	 2.	 According to the Court, an Ordinance is 
subject to the same constitutional limitations 
as an Act of Parliament and cannot violate 
any fundamental right or other provisions of 
the Constitution.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 6.	 With reference to the constitutional provisions 

regarding calling for floor test by the governor, 
consider the following statements:

	 1.	 According to Article-175(2), to prove whether 
the government has the numbers or not, the 
Governor can summon the House and ask for 
a floor test.

	 2.	 When the House is in session, only the 
Speaker can call for a floor test.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 7.	  With reference to the concept of poverty line in 

India, consider the following statements:
	 1.	 According to the Rangarajan committee, in 

the year 2017, the poverty line was fixed at 
Rs. 112 per day in rural areas.

	 2.	 In the year 2011, 21.9% of Indians were 
considered to be living below the national 
poverty line.

	 3.	 Poverty line can be defined as the minimum 
level of income which is capable of meeting 
the basic needs of family life.
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	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	 8-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

        (Hkkjr esa xjhch vkdyu ds    (o"kZ)

            fy;s xfBr lfefr;k¡)

	 1-	 ;kstuk vk;ksx dk;Zlewg 	 &	 1962
	 2.	 ydM+kokyk lfefr 	 &	 1993
	 3-	 rsanqydj lfefr       	 &	 2009 

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	 9.	 fuEufyf[kr rF;ksa ij fopkj dhft;s%

	 1.	 varjkZ"Vªh; eqækdks"k esa vkjf{kr va'k ,oa fo'ks"k 

vkgj.k vf/dkj

	 2.	 fons'kh eqæk ifjlaifÙk

	 3.	 Lo.kZ HkaMkj 

	 	mi;ZqDr esa ls fdrus feydj fons'kh eqæk HkaMkj dk 

fuekZ.k djrs gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	 10.	 vkjchvkbZ ds }kjk Lo.kZ dh [kjhn ls lacaf/r fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 vkjchvkbZ ds }kjk o"kZ 2023 esa 34.22 Vu Lo.kZ 
[kjhnk x;kA

	 2.	 ewY; ds lanHkZ esa] dqy fons'kh eqæk HkaMkj esa Lo.kZ 

dk fgLlk ekpZ 2023 ds var esa yxHkx 7.81% 
FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	11-	fuekZ.k&ifjpkyu&gLrkarj.k (chvksVh) ekWMy ds lanHkZ 

esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bl ekWMy ds rgr ,d futh lk>snkj dks fufnZ"V 

vof/ ds fy;s ,d ifj;kstuk ds dsoy fuekZ.k 

dk dkWUVªSDV fn;k tk,xkA

	 2-	 bl ekWMy ds rgr ifj;kstuk dk foÙkh;u vkSj 

lapkyu lkoZtfud {ks=k ds }kjk fd;k tk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 8.	 Consider the following pairs:
    (Committees constituted for		  (years)
        poverty estimation in India)
	 1.	 Planning Commission	 -	 1962	

Working Group
	 2.	 Lakdawala Committee	 -	 1993
	 3.	 Tendulkar Committee	 -	 2009 
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 9.	 Consider the following facts:
	 1.	 Reserved Shares and Special Drawing Rights 

in the International Monetary Fund
	 2.	 Foreign Currency Asset
	 3.	 Gold Reserves
		  How many of the above together constitute the 

foreign exchange reserves?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 10.	 Consider the following statements regarding the 

purchase of gold by RBI:
	 1.	 In the year 2023, 34.22 tonnes of gold was 

bought by RBI.
	 2.	 In value terms, the share of gold in the total 

foreign exchange reserves was around 7.81% 
at the end of March 2023.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 11.	 With reference to Build-Operate-Transfer (BOT) 

model, consider the following statements:
	 1.	 Under this model, a private partner will be 

given a contract to build only a project for a 
specified period.

	 2.	 Under this model, the project will be financed 
and operated by the public sector.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
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	12-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 fcYM&vkWu&vkWijsV&VªkaliQj (BOOT)
	 2-	 fMtkbu&chYM&iQkbusal&vkWijsV (DBFO)
	 3-	 gkbZfczM okf"kZdh ekWMy (HAM)

	 	mi;ZqDr dFkuksa esa ls fdrus lkoZtfud&futh Hkkxhnkjh 
ekWMy (ihihih) gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	13-	^ckyh ihl DykWt* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s% 

	 1-	 bl ihl DykWt ds varxZr O;oLFkk nh xbZ fd dksbZ 
Hkh fodkl'khy ns'k ;fn 10» ls ”;knk lfClMh 
nsrk gS rks dksbZ vU; ns'k bl ckr ij vkifÙk ugha 
djsxkA

	 2-	 phu ^ckyh ihl DykWt* dk mi;ksx djus okyk 
fo'o dk igyk ns'k gSA

	 3-	 Hkkjr us 2019&20 esa pkoy ij 10» dh vuqKIr 
lhek dh rqyuk esa 13-7» dh lfClMh çnku dhA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	14-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

  (lfClMh ds çdkj) (fodk'khy ns'kksa dk NwV çfr'kr)
	 1.	 vacj ckWDl	 &	10 çfr'kr
	 2-	 Cyw ckWDl	 &	12 çfr'kr
	 3-	 xzhu ckWDl	 &	14 çfr'kr

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	15-	gky gh esa] fuEufyf[kr esa ls fdl ns'k dh vjc yhx 
esa iqu% okilh gqbZ gS\

	 (a)	 bjkd	 (b)	tkWMZu
	 (c)	 felz	 (d)	lhfj;k

	16-	j'r&vLrkjk jsyos le>kSrk ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g 162 fdyksehVj yach jsyosykbu dSfLi;u lkxj 
ds fudV bZjku ds j'r 'kgj dks :l ds vLrkjk 
ls tksM+sxhA

	 2-	 ;g jsyekxZ varjkZ"Vªh; mÙkj&nf{k.k ifjogu dkWfjMksj 
dks liQy cukus esa egÙoiw.kZ Hkwfedk fuHkk,xkA

	 3-	 bl le>kSrs ds vuqlkj :l jsyosykbu ds fuekZ.k 
esa 1-73 fcfy;u MkWyj dk fuos'k djsxkA

	 12.	 Consider the following statements:
	 1.	 Build-Own-Operate-Transfer (BOOT)
	 2.	 Design-Build-Finance-Operate (DBFO)
	 3.	 Hybrid Annuity Model (HAM)
		  How many of the above statements are Public-

Private Partnership models (PPP)?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 13.	 With reference to the 'Bali Peace Clause', consider 

the following statements:
	 1.	 Arrangement was made under this Peace 

Clause that if any developing country gives 
more than 10% subsidy then no other country 
will object to it.

	 2.	 China is the first country in the world to use 
the 'Bali Peace Clause'.

	 3.	 India provided a subsidy of 13.7% on rice in 
2019-20 against the permitted limit of 10%.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 14.	 Consider the following pairs:
    (Types of subsidies)	    (Discount percentage
				                of developing countries)
	 1.	 Amber Box	 -	 10 percent
	 2.	 Blue Box	 -	 12 percent
	 3.	 Green Box	 -	 14 percent
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 15.	 Recently, which of the following country has 

returned to the Arab League?
	 (a)	 Iraq	 (b)	 Jordan
	 (c)	 Egypt	 (d)	 Syria
	 16.	 With reference to the Rasht-Astara Railway 

Agreement, consider the following statements:
	 1.	 This 162 km long railway line will connect 

the Iranian city of Rasht near the Caspian Sea 
with Astara in Russia.

	 2.	 This railway will play an important role 
in making the International North-South 
Transport Corridor a success.

	 3.	 According to this agreement, Russia will 
invest $1.73 billion in the construction of the 
railway line.
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	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	17-	fuEufyf[kr ns'kksa ij fopkj dhft;s%

	 1-	 vkWLVªsfy;k	 2-	tkiku
	 3-	 dukMk	 4-	bVyh 

	 	mi;ZqDr esa ls fdrus ns'k G&7 ds lnL; ns'k gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 dsoy rhu	 (d)	lHkh pkj

	 18.	 'ka?kkbZ lg;ksx laxBu (,llhvks) ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ,llhvks esa 'kkfey ns'k oSf'od ldy ?kjsyw mRikn 
esa yxHkx 25» ls vf/d ;ksxnku djus ds lkFk 
fo'o dh 40» vkcknh dk çfrfuf/Ro djrs gSaA

	 2.	 o"kZ 2018 esa ,llhvks ds rgr ,d viQxkfuLrku 
dkWUVsDV xzqi dh LFkkiuk dh xbZA

	 3.	 ,llhvks dh LFkkiuk twu 2004 esa dh xbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3 

	19-	Hkkjr&bZ,iQVh, O;kikj le>kSrk ls lacaf/r fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr&bZ,iQVh, dk 9ok¡ lcls cM+k O;kikfjd 
Hkkxhnkj gSA

	 2-	 bZ,iQVh, ns'kksa }kjk Hkkjr esa e'khujh] bysfDVªdy 
bathfu;fjax vkSj /krq] iQkekZL;wfVdYl vkfn {ks=kksa 
esa yxHkx 35 fcfy;u MkWyj ls vf/d dk fuos'k 
fd;k x;k gSA  

      mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	20-	ekbVksdkWfUMª;y fjIyslesaV Fksjsih ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 bl rduhd dks vyhZ çksU;wfDy;j VªkaliQj rduhd 
dgk tkrk gSA

	 2-	 bl rduhd esa tSfod ekrk&firk ls çkIr 
'kqØk.kq vkSj vaMk.kq dks nkrk ds vaMk.kq ls feys 
ekbVksdkWfUMª;k ds lkFk la;ksftr fd;k tkrk gSA

	 3-	 blesa cPps esa vius ekrk&firk ls çkIr Mh-,u-, 
gksrk gS] lkFk gh nkrk ls 37 thu Hkh çkIr gksrs gSaA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 17.	 Consider the following countries:
	 1.	 Australia	 2.	 Japan
	 3.	 Canada	 4.	 Italy
		  How many of the above countries are the member 

countries of G-7?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 18.	 With reference to Shanghai Cooperation 

Organization (SCO), consider the following 
statements:

	 1.	 The countries in the SCO represent 40% of 
the world's population, contributing more than 
25% to the global GDP.

	 2.	 In the year 2018, an Afghanistan Contact 
Group was established under the SCO.

	 3.	 SCO was established in June 2004.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 and 2 only 	 (b)	 2 and 3 only
	 (c)	 3 only 	 (d)	 1, 2 and 3 
	 19.	 Consider the following statements regarding the 

India-EFTA trade agreement:
	 1.	 India is the 9th largest trading partner of 

EFTA.
	 2.	 Investments by EFTA countries in India in the 

sectors of machinery, electrical engineering 
and metals, pharmaceuticals, etc. are estimated 
to be over $35 billion.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 20.	 With reference to Mitochondrial Replacement 

Therapy, consider the following statements:
	 1.	 This technique is called Early Pronuclear 

Transfer Technique.
	 2.	 In this technique, sperm and egg from 

biological parents are combined with 
mitochondria from a donor egg.

	 3.	 It contains the DNA the child receives from its 
parents, as well as 37 genes from the donor.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
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	21-	fyxks bafM;k ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s% 

	 1-	 ;g fo'o esa fxus&pqus ystj baVjiQsjksehVj xzSfoVs'kuy 

osc vkWCtoZsVjh esa ls ,d gksxkA

	 2-	 ;g CySd gksy rFkk U;wVªkWu LVkj tSls fo'kky 

[kxksy HkkSfrdh oLrqvksa ds foy; ds nkSjku mRiUu 

xq#Rokd"kZ.k rjaxksa dh lsaflax djus esa l{ke gSA

	 3-	 ;g fczVsu esa lapkfyr nks os/'kkykvksa ds lkFk 

flaØksukbts'ku esa dke djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3 

	22-	gky gh esa ;wjksih; la?k ds }kjk egÙokdka{kh vkfVZfiQf'k;y 

baVsfytsal ,DV dk elkSnk çLrqr fd;k x;kA bl lanHkZ 

esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bldk mn~ns'; pSVthihVh tSls lkekU;&mn~ns'; okys 

vkfVZfiQf'k;y baVsfytsal flLVe dks fofu;eu ds 

nk;js esa ykuk gSA

	 2-	 ;g dkuwu çkS|ksfxdh ds dqN mik;ksa ls tqMs+ uqdlku 

dks de djus ;k jksdus ds nkSjku Ñf=ke cqf¼eÙkk 

dks c<+kok nsus ds chp larqyu cukuk pkgrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	23-	fuEufyf[kr esa ls dkSu&lk jkT; ty laj{k.k ;kstukvksa 

ds ekeys esa lcls vkxs gS\

	 (a)	 if'pe caxky	 (b)	vka/z çns'k

	 (c)	 rfeyukMq	 (d)	egkjk"Vª

	24-	Hkkjr esa rkiu dh fLFkfr ls lacaf/r fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1-	 fgekpy çns'k] xksok vkSj dsjy esa rkieku fiNys 

120 o"kks± esa çfr 100 o"kks± esa 1 fMxzh lsfYl;l 
ls vf/d dh nj ls c<+k gSA

	 2-	 vf/dka'k iwokZsÙkj jkT;ksa ds rkieku esa çfr 100 
o"kks± esa 1-3 fMxzh lsfYl;l ls vf/d dh o`f¼ 

ntZ dh xbZ gSA

	 3-	 iwohZ jkT;ksa esa fcgkj] >kj[kaM vkSj vksfM'kk us lcls 

de rkieku o`f¼ vuqHko dh gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	 21.	 With reference to LIGO India, consider the 
following statements:

	 1.	 It will be one of the few Laser Interferometer 
Gravitational Web Observatory in the world.

	 2.	 It is capable of sensing gravitational 
waves generated during mergers of massive 
astrophysical objects such as black holes and 
neutron stars.

	 3.	 It will work in synchronization with two 
observatories operating in the UK.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only 	 (b)	 2 and 3 only
	 (c)	 3 only 	  (d)	 1, 2 and 3 
	 22.	 Recently, the draft of the ambitious Artificial 

Intelligence Act was presented by the European 
Union. In this context, consider the following 
statements:

	 1.	 It aims to bring general-purpose artificial 
intelligence systems such as ChatGPT under 
the ambit of regulation.

	 2.	 The legislation seeks to strike a balance 
between promoting artificial intelligence while 
minimizing or preventing harm associated 
with certain measures of technology.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 23.	 Which of the following states is at the forefront of 

water conservation schemes?
	 (a)	 West Bengal	 (b)	 Andhra Pradesh
	 (c)	 Tamil Nadu	 (d)	 Maharashtra
	 24.	 Consider the following statements related to the 

heating situation in India:
	 1.	 Temperatures in Himachal Pradesh, Goa and 

Kerala have increased over the past 120 years 
at a rate of more than 1 °C per 100 years.

	 2.	 Most of the northeastern states have recorded 
an increase in temperature of more than 1.3 
°C per 100 years.

	 3.	 Among the eastern states, Bihar, Jharkhand 
and Odisha have experienced the least 
increase in temperature.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
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	25-	xSykfFk;k us'kuy ikdZ fuEufyf[kr esa ls fdl jkT;@

dsaæ'kkflr çns'k esa fLFkr gS\

	 (a)	 dukZVd

	 (b)	 iqnqpsjh

	 (c)	 rfeyukMq

	 (d)	 vaMeku vkSj fudksckj }hi lewg

	26-	xzsV fudksckj fodkl ifj;kstuk ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 bl ifj;kstuk esa ,d varjkZ"Vªh; daVsuj Vªkal&f'kiesaV 

VfeZuy] ,d xzhuiQhYM varjkZ"Vªh; gokbZ vM~Mk] 

uxjh; fodkl rFkk os;jgkmflax dkWEIysDl 

'kkfey gSaA

	 2-	 vaMeku vkSj fudksckj }hi lewg ,dhÑr fodkl 

fuxe rFkk ty 'kfDr ea=kky; bl ;kstuk dh 

uksMy ,tsalh gksaxhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	27-	fuEufyf[kr esa ls 'kksEisu tutkfr fdl LFkku ij ikbZ 

tkrh gS\ 

	 (a)	 uhyfxfj igkfM+;k¡  

	 (b)	 fudksckj }hi lewg 

	 (c)	 Lihfr ?kkVh 

	 (d)	 y{k}hi }hi lewg

	28-	la;qDr jk"Vª cky fookg fjiksVZ ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 ;g fjiksVZ fo'o cSad ds }kjk tkjh dh tkrh gSA

	 2-	 bl fjiksVZ ds vuqlkj if'peh vÚhdk vkSj eè; 

vÚhdk esa cky fookg dh nj lcls vf/d gSA

	 3-	 bl fjiksVZ ds vuqlkj nqfu;k esa yxHkx 115 fefy;u 
cPpksa dh 'kknh 18 o"kZ dh mez ls igys gh dj 

nh xbZA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3 	 (d)	1] 2 vkSj 3

	29-	vFkZO;oLFkk esa Lo.kZ ds egÙo ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 vkjf{kr eqæk ds :i esa 

	 2-	 Lo.kZ vf/d le; rd vius ewY; dks cuk, j[kus 

esa l{ke ugha gSA

	 3-	 ljdkjh çfrHkwfr;ksa ds fodYi ds :i esaA

	 25.	 Galathea National Park is located in which of the 
following state/UT?

	 (a)	 Karnataka
	 (b)	 Puducherry
	 (c)	 Tamil Nadu
	 (d)	 Andaman and Nicobar Islands
	 26.	 With reference to the Great Nicobar Development 

Project, consider the following statements:
	 1.	 The project comprises an international 

container trans-shipment terminal, a greenfield 
international airport, urban development and 
a warehousing complex.

	 2.	 Andaman and Nicobar Islands Integrated 
Development Corporation and Ministry of 
Jal Shakti will be the nodal agency for this 
scheme.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 27.	 In which of the following places is the Shompen 

tribe found?
	 (a)	 Nilgiri Hills
	 (b)	 Nicobar Islands
	 (c)	 Spiti Valley
	 (d)	 Lakshadweep Islands
	 28.	 With reference to the United Nations Child 

Marriage Report, consider the following statements:
	 1.	 This report is issued by the World Bank.
	 2.	 According to this report, the rate of child 

marriage is highest in West Africa and Central 
Africa.

	 3.	 According to this report, around 115 million 
children in the world were married before the 
age of 18.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 29.	 With reference to the importance of gold in the 

economy, consider the following statements:
	 1.	 As reserve currency
	 2.	 Gold has not been able to retain its value for 

long.
	 3.	 As a substitute for government securities.
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	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	30-	varjkZ"Vªh; mÙkj&nf{k.k ifjogu dkWfjMksj ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g Hkkjr] bZjku] vtjcStku] :l] eè; ,f'k;k vkSj 

;wjksi ds chp dkxkZs ys tkus ds fy;s tgkt] jsy 

vkSj lM+d ekxks± dk 7200 fdeh- yaEck eYVh&ekWM 

VªkaftV flLVe gSA

	 2-	 bl ifj;kstuk dks fodflr djus ds fy;s :l] 

Hkkjr vkSj ;wjksih; ;wfu;u ds chp o"kZ 2002 esa 
,d le>kSrs ij gLrk{kj fd;s x, FksA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	 31.	 fuEufyf[kr esa ls dkSu&lk ns'k DokM (QUAD) dk 

lnL; ns'k ugha gS\

	 (a)	 Hkkjr	 (b)	tkiku 
	 (c)	 ;w,l,	 (d)	nf{k.k dksfj;k

	 32.	 ^VªkaliQkWeZj* ls lacaf/r fuEufyf[kr dFkuksa ij fopkj 

dhft;s% 

	 1-	 ^VªkaliQkWeZj* ,d Vw ikVZ U;wjy usVodZ gSA

	 2-	 bldk igyk ikVZ ,udksMj gksrk gS tks buiqV fd;s 

x, okD; dks lkslZ ySaXost esa lekfgr djrk gSA

	 3-	 VªkaliQkWeZj] yacs okD;ksa ;k iSjkxzkiQksa dk lgh <ax 

ls vuqokn djus esa l{ke gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	33-	Hkkjr dh igyh ty fudk; x.kuk ls lacaf/r fuEufyf[kr 

dFkuksa ij fopkj dhft;s% 

	 1-	 blesa xzkeh.k rFkk 'kgjh {ks=kksa esa fLFkr mu lHkh 

ty fudk;ksa dks 'kkfey fd;k x;k gS] tks dsoy 

mi;ksx esa gSaA

	 2-	 ns'k esa 78% ty fudk; ekuo fufeZr gSaA

	 3-	 >kj[kaM] vka/z çns'k] rsyaxkuk] if'pe caxky vkSj 

xqtjkr ty lzksrksa ls flapkbZ djus okys çeq[k 

jkT; gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1  	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3 	 (d)	1] 2 vkSj 3

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 30.	 With reference to the International North-South 

Transport Corridor, consider the following 
statements:

	 1.	 It is a 7200 km long multi-mode transit 
system of ships, rail and roadways to carry 
cargo between India, Iran, Azerbaijan, Russia, 
Central Asia and Europe.

	 2.	 An agreement was signed in the year 2002 
between Russia, India and the European 
Union to develop this project.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 31.	 Which of the following country is not a member 

country of QUAD?
	 (a)	 India	 (b)	 Japan
	 (c)	 USA	 (d)	 South Korea
	 32.	 Consider the following statements related to 

'Transformer':
	 1.	 'Transformer' is a two part neural network.
	 2.	 Its first part is the encoder which converts 

the  inputted sentence into the source 
language.

	 3.	 Transformer is able to translate long sentences 
or paragraphs correctly.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 33.	 Consider the following statements related to India's 

first water body census:
	 1.	 It includes all those water bodies located in 

rural and urban areas which are only in use.
	 2.	 78% of the water bodies in the country are 

man-made.
	 3.	 Jharkhand, Andhra Pradesh, Telangana, 

West Bengal and Gujarat are the major states 
irrigated by water sources.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 only  	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
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	34-	Bksl vif'k"V çca/u vkSj vkokjk dqÙkksa ds geyksa ds 

chp dh dM+h ls lacaf/r fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 dsaæh; çnw"k.k fu;a=k.k cksMZ ds vuqlkj Hkkjr lkykuk 

yxHkx 62 fefy;u Vu Bksl vif'k"V mRiUu 

djrk gSA

	 2-	 Hkkjr eq[; :i ls vkokjk dqÙkksa dh leL;k dks 

gy djus ds fy;s i'kq tUe fu;a=k.k dk;ZØe ij 

fuHkZj gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2

	35-	ikfjfLFkfrd laosnu'khy tksu (bZ,ltsM)ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g jk"Vªh; m|ku o vHk;kj.; {ks=k esa gks jgs 

fodkl dk;ZØe ls u"V gks jgh tSo fofo/rk dks 

cpkus gsrq cuk;k x;k gSA

	 2-	 gky gh esa mPpre U;k;ky; us oU;tho vHk;kj.;ksa 

ds vklikl U;wure ,d fdeh- ds vfuok;Z 

bZ,ltsM cukus dh lhek dks c<+kdj 2 fdeh- dj 

fn;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	36-	Hkkjr esa rkieku o`f¼ dh orZeku fLFkfr ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr esa okfeZax dks oSf'od vkSlr ls de ekuk 

tkrk gSA

	 2-	 i`Foh foKku ea=kky; }kjk o"kZ 2020 esa fd;s x, 

vkdyu ds vuqlkj Hkkjr esa vkSlr okf"kZd ekè; 

rkieku o"kZ 1900 ls yxHkx 0-7 fMxzh lsfYl;l 
c<+ x;k gSA

	 3-	 m".kdfVca/h; fgan egklkxj esa lrg dk rkieku 

1950 ls 2015 ds chp Ms<+ fMxzh lsfYl;l c<+ 

x;k gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d

	 (b)	 dsoy nks

	 (c)	 lHkh rhu

	 (d)	 dksbZ Hkh ugha

	 34.	 Consider the following statements regarding the 
link between solid waste management and stray 
dog attacks:

	 1.	 According to the Central Pollution Control 
Board, India generates about 62 million 
tonnes of solid waste annually.

	 2.	 India primarily relies on animal birth control 
programs to address the problem of stray 
dogs.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 35.	 With reference to Eco-Sensitive Zone (ESZ), 

consider the following statements:
	 1.	 This National Park and Sanctuary has 

been created to save the biodiversity being 
destroyed by the development program in the 
area.

	 2.	 Recently, the Supreme Court has increased 
the mandatory ESZ limit of minimum 1 km 
around wildlife sanctuaries to 2 km.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 36.	 With reference to the present status of temperature 

rise in India, consider the following statements:
	 1.	 The warming in India is believed to be less 

than the global average.
	 2.	 According to the assessment made by the 

Ministry of Earth Sciences in the year 2020, 
the average annual mean temperature in India 
has increased by about 0.7°C since 1900.

	 3.	 The surface temperature in the tropical Indian 
Ocean has increased by 1.5°C between 1950 
and 2015.

		  How many of the above statements are correct?
	 (a)	 Only one
	 (b)	 Only two
	 (c)	 All three
	 (d)	 None
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	37-	Xykscy ySaM vkmVyqd fjiksVZ ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 bl fjiksVZ dks fo'o cSad ds }kjk tkjh fd;k x;k gSA

	 2-	 ;g fjiksVZ lhfer Hkwfe lalk/uksa dh deh vkSj 

oSf'od Hkw&iquLFkkZiu cgky djus ls lacaf/r gSA

	 3-	 bl fjiksVZ esa ekuo }kjk ukS esa ls 7 IysusVjh ckmaMªht 
dk mYya?ku fd;s tkus dk o.kZu gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2  
	 (b)	 dsoy 2 
	 (c)	 dsoy 1 vkSj 3 
	 (d)	 1] 2 vkSj 3

	38-	la;qDr jk"Vª e#LFkyh;dj.k jksdFkke dUosa'ku ls lacaf/r 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g ,dek=k varjkZ"Vªh; le>kSrk gS] tks ekuo ds 

fy;s lqjf{kr lapyu LFkku dks ifjHkkf"kr djrk gSA

	 2-	 ;g la;qDr jk"Vª ds varxZr rhu fj;ks le>kSrksa esa 

ls ,d gSA

	 3-	 çR;sd o"kZ 27 twu dks fo'o e#LFkyhdj.k vkSj 

lw[kk fnol euk;k tkrk gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d

	 (b)	 dsoy nks

	 (c)	 lHkh rhu

	 (d)	 dksbZ Hkh ugha

	39-	ç/kuea=kh thou T;ksfr chek ;kstuk dks fuEufyf[kr esa 

ls fdl o"kZ çkjaHk fd;k x;k\

	 (a)	 2014
	 (b)	 2015
	 (c)	 2016
	 (d)	 2017

	40-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

        (rfey egkdkO;)       (jpukdkj)

	 1-	 ef.kes[kybZ	 &	bykaxks vfMxy

	 2-	 f'kykIifndkje	 &	lhryS lÙkukj

	 3-	 thod fparkef.k	 &	fr#rDdnsoj

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 

	 (b)	 dsoy nks 

	 (c)	 lHkh rhu 

	 (d)	 dksbZ Hkh ugha

	 37.	 With reference to the Global Land Outlook 
report, consider the following statements:

	 1.	 This report has been released by the World 
Bank.

	 2.	 This report deals with the depletion of limited 
land resources and the global land restoration.

	 3.	 This report describes 7 out of 9 Planetary 
Boundaries violated by humans.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only  
	 (b)	 2 only
	 (c)	 1 and 3 only 
	 (d)	 1, 2 and 3
	 38.	 Consider the following statements regarding 

United Nat ions Convent ion to  Combat 
Desertification:

	 1.	 It is the only international agreement that 
defines the safe movement space for humans.

	 2.	 It is one of the three Rio Agreements under 
the United Nations.

	 3.	 World Day against Desertification and 
Drought is observed on 27 June every year.

		  How many of the above statements are correct?
	 (a)	 Only one
	 (b)	 Only two
	 (c)	 All three
	 (d)	 None
	 39.	 In which of the following year the Pradhan Mantri 

Jeevan Jyoti Bima Yojana was launched?
	 (a)	 2014
	 (b)	 2015
	 (c)	 2016
	 (d)	 2017
	 40.	 Consider the following pairs:
        		  (Tamil epic)                     (Creator)
	         1.	 Manimekhalai	 –	 Ilango Adigal
        	 2.	 Cilappatikaram	 –	 Sittale Sattnar
        	 3.	 Givaka Cintamani	 –	 Tirutakkatevar
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one
	 (b)	 Only two
	 (c)	 All three
	 (d)	 None
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	41-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 flfDde dk pksX;ky jktoa'k cehZ ewy ls 

lacaf/r gSA

	 2-	 o"kZ 1816 esa rqEyksax dh laf/ ds ekè;e ls flfDde 

ij fczfV'kksa us ,d vkSipkfjd lajf{kr jkt LFkkfir 

fd;kA

	 3-	 o"kZ 1817 esa frrkfy;k dh laf/ ls usiky vkSj 

flfDde ds chp lhek dk fu/kZj.k gqvkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2  	 (b)	dsoy 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	1] 2 vkSj 3

	42-	flfDde dk Hkkjr esa foy; ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 flfDde dh jkT; ifj"kn ;k fo/kulHkk ds lHkh 

lnL; jktk }kjk euksuhr gksrs FksA

	 2-	 o"kZ 1973 esa pksX;ky] Hkkjr ljdkj vkSj rhu çeq[k 

jktuhfrd nyksa ds chp jktuhfrd lq/kjksa ds fy;s 

le>kSrk gqvkA

	 3-	 o"kZ 1975 esa gq, tuer laxzg esa flfDde dh 

turk us Hkkjr esa foy; ds foi{k esa ernku fd;kA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	43-	mÙkjh lkxj f'k[kj lEesyu dk vk;kstu fuEufyf[kr esa 

ls dgk¡ fd;k x;k\ 

	 (a)	 ,ElVMZe	 (b)	vksLyks

	 (c)	 dksisugsxu	 (d)	czlsYl

	44-	Hkkjrh; LVkVZ&vi daifu;ksa ls lacaf/r fjolZ fÝyi ds 

lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 fÝyfiax ,d Hkkjrh; daiuh ds laiw.kZ LokfeRo dks 

,d fons'kh bdkbZ esa LFkkukarfjr djus dh çfØ;k gSA

	 2-	 daifu;k¡ futh bfDoVh vkSj osapj dSfiVy ls iwath 

rd vklku igq¡p] jkmaM&fVªfiax ds fu;eksa esa cnyko 

vkSj Hkkjr ds iwath ck”kkj dh c<+rh ifjiDork ds 

dkj.k fjolZ fÝyi djrh gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2

	 41.	 Consider the following statements:
	 1.	 The Chogyal dynasty of Sikkim is of Burmese 

origin.
	 2.	 Through the Treaty of Tumlong in 1816, the 

British established a formal protectorate over 
Sikkim.

	 3.	 In the year 1817, the boundary between Nepal 
and Sikkim was determined by the Treaty of 
Titalia.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only  	 (b)	 2 only  
	 (c)	 2 and 3 only 	 (d)	 1, 2 and 3
	 42.	 With reference to the merger of Sikkim with India, 

consider the following statements:
	 1.	 All the members of the State Council 

or Legislative Assembly of Sikkim were 
nominated by the king.

	 2.	 In the year 1973, an agreement was reached 
between the Chogyal, the Government of 
India and the three major political parties for 
political reforms.

	 3.	 In the plebiscite held in the year 1975, the 
people of Sikkim voted against the merger 
with India.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 43.	 Where was the North Sea Summit held?
	 (a)	 Amsterdam	 (b)	 Oslo
	 (c)	 Copenhagen	 (d)	 Brussels
	 44.	 With reference to reverse flip related to Indian 

start-up companies, consider the following 
statements:

	 1.	 Flipping is the process of transferring the 
entire ownership of an Indian company to an 
overseas entity.

	 2.	 Companies reverse flip due to easier access 
to capital from private equity and venture 
capital, changing rules for round-tripping and 
increasing maturity of India's capital market.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
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	 45.	 oSxuj lewg gS&

	 (a)	 ,d futh v/ZlSfud laxBu

	 (b)	 oSKkfudksa dk ,d laxBu

	 (c)	 lwMku dk ,d foæksgh laxBu

	 (d)	 mi;ZqDr esa ls dksbZ ugha 

	46-	vaMeku vkSj fudksckj }hi lewg Hkwdaih; rhozrk ds 

fdl tksu ds varxZr vkrs gSa\

	 (a)	 Hkwdaih; tksu II	

	 (b)	 Hkwdaih; tksu III

	 (c)	 Hkwdaih; tksu IV

	 (d)	 Hkwdaih; tksu V

	47-	Hkkjr esa fMªi flapkbZ ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s% 

	 1-	 flapkbZ dh ikjaifjd i¼fr dh rqyuk esa fMªi }kjk 

40&50 çfr'kr vf/d ty dh cpr gksrh gSA

	 2-	 Ñf"k ea=kky; }kjk egkjk"Vª ds xUuk mRiknd {ks=k esa 

fd;s x, vè;u ls irk pyrk gS fd fMªi flapkbZ 

ls çfr gsDVs;j yxHkx 1065 kWh fctyh cpr 

gksrh gSA

	 3-	 çfr cwan vf/d iQly ds y{; dks gkfly djus 

ds fy;s o"kZ 2015 esa ç/kuea=kh flapkbZ ;kstuk dh 

'kq#vkr dh xbZ FkhA

	 	mi;ZqDr esa ls fdrus dFku lgh ugha gSa\

	 (a)	 dsoy ,d

	 (b)	 dsoy nks

	 (c)	 lHkh rhu

	 (d)	 dksbZ Hkh ugha

	 48.	 ÝyS'k MªkmV ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 vlkekU; :i ls fuEu rkieku] gokvksa ,oa lkSj 

fofdj.k ds lkFk&lkFk o"kkZ dh vf/d nj LFkkuh; 

tyok;q dks rsth ls cny ldrs gSa] ftlls ÝyS'k 

MªkmV çHkko iM+ ldrk gSA

	 2-	 eè; la;qDr jkT; vesfjdk] nf{k.k if'pe :l 

vkSj mÙkj&iwohZ phu ÝyS'k MªkmV gkWVLikWV gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 

	 (d)	 u rks 1 vkSj u gh 2

	 45.	 Wagner group is-
	 (a)	 a private paramilitary organization
	 (b)	 an association of scientists
	 (c)	 Sudanese rebel organization
	 (d)	 none of the above
	 46.	 Andaman and Nicobar Islands fall under which 

zone of seismic intensity?
	 (a)	 Seismic Zone II
	 (b)	 Seismic Zone III
	 (c)	 Seismic Zone IV
	 (d)	 Seismic Zone V
	 47.	 With reference to Drip Irrigation in India, consider 

the following statements:
	 1.	 Drip irrigation saves 40-50 percent more 

water  than the traditional method of 
irrigation.

	 2.	 A study conducted by the Ministry of 
Agriculture in the sugarcane growing region 
of Maharashtra shows that drip irrigation 
saves about 1065 kWh of electricity per 
hectare.

	 3.	 Pradhan Mantri Sinchai Yojana was launched 
in the year 2015 to achieve the target of “Per 
Drop More Crop”.

		  How many of the above statements are not 
correct?

	 (a)	 Only one
	 (b)	 Only two
	 (c)	 All three
	 (d)	 None
	 48.	 With reference to Flash drought, consider the 

following statements:
	 1.	 Abnormally low temperatures, winds and solar 

radiation as well as high rates of precipitation 
can rapidly change the local climate, causing 
a flash drought effect.

	 2.	 The central United States, southwest Russia, 
and northeast China are flash drought 
hotspots.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2



14
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	49-	jk"Vªh; isa'ku ç.kkyh (,uih,l) ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 1 tuojh] 2003 dks vFkok mlds ckn dsaæ 
ljdkj dh lsok ls tqM+us okys u;s deZpkfj;ksa dks 
blesa 'kkfey fd;k tkrk gSA

	 2.	 18–60 o"kZ dk dksbZ Hkh Hkkjrh; ukxfjd blds 
varxZr 'kkfey gks ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	50-	^iks"k.k Hkh] i<+kbZ Hkh* dk;ZØe dk çkjaHk fuEufyf[kr 
esa ls fdl ea=kky; ds }kjk fd;k x;k gS\

	 (a)	 miHkksDrk] dk;Z] [kk| ,oa lkoZtfud forj.k 
ea=kky;

	 (b)	 [kk| çlaLdj.k m|ksx ea=kky;
	 (c)	 LokLF; ,oa ifjokj dY;k.k ea=kky;
	 (d)	 efgyk ,oa cky fodkl ea=kky;

	51-	cky fookg vkSj oSf'od cgqladV (ikWyhØkbfll) ds 
lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s% 

	 1-	 fo'o cSad ds }kjk tkjh ubZ fjiksVZ esa oSf'od 
cgqladV ds dkj.k cky fookg dh çFkk esa o`f¼ 
gks ldrh gSA

	 2-	 bl fjiksVZ ds vuqlkj ckaXykns'k vkSj bfFk;kssfi;k esa 
cky fookg çFkk vke jgh gSA

	 3-	 orZeku esa 20 ls 24 o"kZ dh vk;q oxZ dh ik¡p 
;qok efgykvksa esa ls rhu dh 'kknh] cpiu esa gks 
xbZ FkhA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	52-	fuEufyf[kr esa ls Hkkjr ds fdl jkT; esa cky fookg 
ds lcls vf/d ekeys ntZ fd;s x, gSa\

	 (a)	 fcgkj	 (b)	f=kiqjk
	 (c)	 mÙkj çns'k	 (d)	if'pe caxky

	53-	[kklh tutkfr dh lkekftd lajpuk ls lacaf/r 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 [kklh laLÑfr esa cPps vius ek¡ dk ljuse 
viukrs gSaA

	 2-	 [kklh laLÑfr esa ifjokj dh lcls cM+h csVh 
([krnqg) dks iq'rSuh&;k dchys dh&laifÙk dk 
iwjk fgLlk lkSaik tkrk gSA

	 3-	 bl ikjaifjd O;oLFkk esa vxj fdlh naifr dh 
dksbZ csVh ugha gS rks laifÙk iRuh dh cM+h cgu 
vkSj mldh csfV;ksa ds ikl tkrh gSA

	 49.	 With reference to National Pension System (NPS), 
consider the following statements:

	 1.	 New employees joining the Central 
Government service on or after January 1, 
2003 are included in this.

	 2.	 Any Indian citizen of 18–60 years can join 
under it.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 50.	 'Poshan Bhi, Padhai Bhi' program has been started 

by which of the following ministry?
	 (a)	 Ministry of Consumer Affairs, Food and 

Public Distribution
	 (b)	 Ministry of Food Processing Industries
	 (c)	 Ministry of Health and Family Welfare
	 (d)	 Ministry of Women and Child Development
	 51.	 With reference to child marriage and global 

polycrisis, consider the following statements:
	 1.	 In a new report released by the World Bank, 

the practice of child marriage may increase 
due to the global polycrisis.

	 2.	 According to this report, the practice of child 
marriage has been common in Bangladesh and 
Ethiopia.

	 3.	 Currently, three out of five young women in 
the age group of 20 to 24 were married as 
children.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 52.	 Which of the following states in India has recorded 

the maximum number of child marriage cases?
	 (a)	 Bihar	 (b)	 Tripura
	 (c)	 Uttar Pradesh	 (d)	 West Bengal
	 53.	 With reference to the social structure of the Khasi 

tribe, consider the following statements:
	 1.	 In Khasi culture, children adopt their mother's 

surname.
	 2.	 In Khasi culture, the eldest daughter (khatduh) 

of the family is assigned the full share of the 
ancestral—or clan—property.

	 3.	 In this traditional system, if a couple does 
not have a daughter, the property goes to the 
wife's elder sister and her daughters.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3 	 (d)	1] 2 vkSj 3

	54-	lkWÝV ikoj dwVuhfr ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl vo/kj.kk dks 1990 ds n'kd esa tkslsiQ uh 

ds }kjk çLrqr fd;k x;k FkkA

	 2.	 ;g dsoy lSU; ;k vkfFkZd ncko ij fuHkZj jgus 

ds ctk; lkaLÑfrd] lkekftd vkSj vkfFkZd lk/uksa 

ds mi;ksx dks lanfHkZr djrh gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2

	55-	fuEufyf[kr esa ls fdl o"kZ la;qDr ckWEcs jkT; ls vyx 

gksdj egkjk"Vª vkSj xqtjkr jkT; vfLrRo esa vk,\

	 (a)	 1 ebZ] 1960	 (b)	27 ekpZ] 1959
	 (c)	 13 tqykbZ] 1963	 (d)	24 uoacj] 1964

	56-	vkthod laçnk; ls lacaf/r fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1-	 vkthod Hkkjrh; n'kZu ds vkfLrd ;k bZ'oj esa 

fo'okl j[kus okys laçnk;ksa esa ls ,d gSA

	 2-	 bls 5oha 'krkCnh bZloh esa eD[kkyh xkslky }kjk 
LFkkfir fd;k x;k FkkA

	 3-	 ;g ,d Je.k vkanksyu Fkk vkSj oSfnd /eZ] çkjafHkd 

ckS¼ /eZ vkSj tSu /eZ dk ,d çeq[k çfr}a}h FkkA

	 4-	 vkthod laçnk; pkokZdksa ds fojks/h FksA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 dsoy rhu	 (d)	lHkh pkj

	57-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

		  (tSu ifj"knsa)              (vè;{k)

	 1-	 çFke tSu ifj"kn	 &	 nsof/Z {kekJe.k

	 2-	 f}rh; tSu ifj"kn	 &	 Hkæckgw

	 3-	 r`rh; tSu ifj"kn	 &	 ukxktZqu

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 

	 (b)	 dsoy nks 

	 (c)	 lHkh rhu 	

	 (d)	 dksbZ Hkh ugha

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 54.	 With reference to soft power diplomacy, consider 

the following statements:
	 1.	 The concept was introduced by Joseph Nye 

in the 1990s.
	 2.	 It refers to the use of cultural, social and 

economic means rather than relying only on 
military or economic coercion.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 55.	 In which of the following year the states of 

Maharashtra and Gujarat came into existence after 
being separated from the United Bombay State?

	 (a)	 1 May 1960	 (b)	 27 March, 1959
	 (c)	 13 July, 1963	 (d)	 24 November, 1964
	 56.	 Consider the following statements related to the 

Ajivaka sect:
	 1.	 The Ajivakas are one of the theistic or God-

believing sects of Indian philosophy.
	 2.	 It was established by Makkhali Gosala in the 

5th century AD.
	 3.	 It was a Sramana movement and a major 

rival of Vedic religion, early Buddhism and 
Jainism.

	 4.	 The Ajivaka sect was opposed to the 
Charvakas.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 57.	 Consider the following pairs:
		  (Jain Councils)             (President)
	 1.	 First Jain Council	 -	 Devardhi 	

			  Kshamashramana
	 2.	 Second Jain Council	 -	 Bhadrabahu
	 3.	 Third Jain Council	 -	 Nagarjuna
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one 
	 (b)	 Only two 
	 (c)	 All three
	 (d)	 None
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	58-	ckS¼ xzaFkksa esa o/Zeku egkohj dks fuEufyf[kr esa ls fdl 

:i esa lanfHkZr fd;k x;k gS\

	 (a)	 vfHkuhr iUukj	 (b)	vuquhr HkksbZ

	 (c)	 fuxaFkk ukVkiqÙk	 (d)	tkr mikslFk

	59-	ef.kiqj fgalk ls lacaf/r fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 ebZ 2023 esa ef.kiqj mPp U;k;ky; ds }kjk eSrsbZ 

leqnk; dks vuqlwfpr tutkfr dk ntkZ nsus dh 

10 o"kZ iqjkuh fliQkfj'k dks vkxs c<+kus dk funZs'k 

fn;k x;kA

	 2-	 vxLr 2022 ls jkT; ljdkj }kjk pqjkpkaniqj&[kkSiqe 

ou {ks=k ds 38 xk¡oksa rFkk fuokfl;ksa dks vfrØe.k 

djrk ?kksf"kr dj fn;k x;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2

	60-	fnek glkvks 'kkafr le>kSrk ls lacaf/r fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 ;g le>kSrk fneklk us'kuy fyczs'ku vkehZ }kjk 

es?kky; jkT; ljdkj vkSj dsaæ ljdkj ds lkFk 

fd;k x;kA

	 2-	 bl le>kSrs ds vuqlkj ,d fneklk dY;k.k ifj"kn 

dk xBu fd;k tk,xkA

	 3-	 bl le>kSrs ds ckn 200 ls vf/d l'kL=k dSMjksa 

us vkReleiZ.k dj fn;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2  	 (b)	dsoy 2 
	 (c)	 dsoy 2 vkSj 3 	 (d)	1] 2 vkSj 3

	61-	fuEufyf[kr esa ls dkSu&lk jkT; jkbZV Vw okWd çko/ku 

ykxw djus okyk ns'k dk igyk jkT; gS\

	 (a)	 fgekpy çns'k	 (b)	dsjy

	 (c)	 mÙkj çns'k	 (d)	iatkc

	62-	uSuks Mh,ih ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 ;g ukbVªkstu vkSj iQkWLiQksjl ds uSuksd.kksa ds lkFk 

vxyh ih<+h dk moZjd gSA

	 2-	 ;g ,d iQkWLiQsV vk/kfjr moZjd gS] tks veksfu;k 

dks iQkWLiQksfjd ,flM ds lkFk çfrfØ;k djds 

fufeZr fd;k tkrk gSA

	 58.	 Vardhamana Mahavira is referred to in Buddhist 
texts as which of the following?

	 (a)	 Abhinit Pannar	 (b)	 Anunit Bhoi
	 (c)	 Nigantha Nataputta	 (d)	 Jata Uposath
	 59.	 With reference to Manipur violence, consider the 

following statements:
	 1.	 In May 2023, the Manipur High Court 

directed to go ahead with a 10-year-old 
recommendation to grant Scheduled Tribe 
status to the Meitei community.

	 2.	 From August 2022, 38 villages and residents 
of the Churachandpur-Khoupum forest area 
were declared encroachments by the state 
government.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 60.	 Consider the following statements regarding the 

Dima Hasao Peace Accord:
	 1.	 The agreement was signed by the Dimasa 

National Liberation Army with the state 
government of Meghalaya and the central 
government.

	 2.	 According to this agreement, a Dimasa 
Welfare Council will be formed.

	 3.	 After this agreement, more than 200 armed 
cadres have surrendered.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only  	 (b)	 2 only
	 (c)	 2 and 3 only 	 (d)	 1, 2 and 3
	 61.	 Which of the following states is the first state in 

the country to implement the Right to Walk 
provision?

	 (a)	 Himachal Pradesh	 (b)	 Kerala
	 (c)	 Uttar Pradesh	 (d)	 Punjab
	 62.	 With reference to Nano DAP, consider the 

following statements:
	 1.	 It is a next generation fertilizer with 

nanoparticles of nitrogen and phosphorus.
	 2.	 It is a phosphate based fertilizer manufactured 

by reacting ammonia with phosphoric acid.
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	 3-	 bls bÝdks (IFFCO) ds }kjk ykWUp fd;k x;k gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	63-	fuaxkyw gkbfczM lw;Z xzg.k ls lacaf/r fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 bls if'peh ;w,l, ds fuaxkyw ls lcls vf/d 
le; rd ns[kk x;kA

	 2-	 gkbfczM lw;Z xzg.k rc yxrk gS tc paæek] lw;Z 
vkSj i`Foh ds chp ls xqtjrs gq, lw;Z dks iwjh rjg 
<d ysrk gSA

	 3-	 fuaxkyw {ks=k dks ;wusLdks ds fo'o /jksgj LFky ds 
:i esa ukfer fd;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2  	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 3 	 (d)	1] 2 vkSj 3

	64-	iyd >hy fuEufyf[kr esa ls fdl jkT; esa fLFkr gS\

	 (a)	 v#.kkpy izsn'k	 (b)	ef.kiqj
	 (c)	 fe”kksje	 (d)	mÙkjk[kaM

	65-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 gky gh esa iatkc >hy laj{k.k vkSj çca/u çkf/dj.k 

us jksiM+ >hy esa igyh ckj ,yhxsVj xkj nqyZHk 

eNyh dh [kkst dhA

	 2-	 ?kfM+;ky Hkkjr ds nf{k.kh Hkkx ds rkts ty esa 

eq[; :i ls xksnkojh unh esa ik, tkrs gSaA

	 3-	 ?kfM+;kyksa dks IUCN jsM fyLV esa xaHkhj :i ls 

yqIrçk; ds :i esa lwphc¼ fd;k x;k gSA

     mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	66-	fuEufyf[kr esa ls fdl o`{k dks vÚhdk esa fo'o o`{k 

ds :i esa tkuk tkrk gS\

	 (a)	 vkcuwl	 (b)	xVkikpkZ
	 (c)	 egksxuh	 (d)	ckvksckc

	67-	vkWjksj cksfj;kfyl ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1-	 ;g ,d pednkj ?kVuk gS] tks nf{k.kh èkzqoksa ds 

utnhd ns[kh tkrh gSA

	 2-	 ;g i`Foh ds pqacdh; {ks=k vkSj ok;qeaMy ds lkFk 

lw;Z ds vkosf'kr d.kksa dh ijLij fØ;k ds dkj.k 

gksrh gSA

	 3.	 It has been launched by IFFCO.
		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 63.	 Consider the following statements regarding the 

Ningaloo Hybrid Solar Eclipse:
	 1.	 It has been observed for the longest time from 

Ningaloo in the western USA.
	 2.	 A hybrid solar eclipse occurs when the Moon 

completely covers the Sun while passing 
between the Sun and the Earth.

	 3.	 The Ningaloo area has been designated as a 
UNESCO World Heritage Site.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only  	 (b)	 2 and 3 only
	 (c)	 3 only 	 (d)	 1, 2 and 3
	 64.	 Palak Lake is located in which of the following 

states?
	 (a)	 Arunachal Pradesh	 (b)	 Manipur
	 (c)	 Mizoram	 (d)	 Uttarakhand
	 65.	 Consider the following statements:
	 1.	 Recently the Punjab Lakes Conservation and 

Management Authority discovered the rare 
fish Alligator Gar for the first time in Ropar 
Lake.

	 2.	 Gharials are found in the freshwater of 
southern part of India mainly in Godavari 
river.

	 3.	 Gharials are listed as Critically Endangered 
on the IUCN Red List.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 66.	 Which of the following trees is known as the World 

Tree in Africa?
	 (a)	 ebony	 (b)	 Gutta-percha
	 (c)	 Mahogany	 (d)	 Baobab
	 67.	 With reference to aurora borealis, consider the 

following statements:
	 1.	 It is a luminous phenomenon observed near 

the South Poles.
	 2.	 It is caused by the interaction of the charged 

particles of the Sun with the Earth's magnetic 
field and atmosphere.
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	 3-	 Hkw&pqacdh; rwiQku vkjksjk dh xfrfof/;ksa esa o`f¼ 

djrs gSaA

	 4-	 gky gh esa Hkkjrh; [kxksy os/'kkyk us yn~nk[k ds 

ikl bl ?kVuk dks dSIpj fd;kA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 dsoy rhu	 (d)	lHkh pkj

	68-	fuEufyf[kr esa ls fdl ns'k dh laln us gky esa fo'o 

dk lcls l[r LGBTQ fojks/h dkuwu ikfjr fd;k gS\

	 (a)	 ikfdLrku	 (b)	bZjku
	 (c)	 ;qxkaMk	 (d)	dhfu;k

	69-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 LoxZnso çkseksÙkk flag ds }kj fufeZr djk;k x;k jax 

?kj ,f'k;k dk igyk eaMi dgykrk gSA

	 2-	 gky esa gq, 'kks/ ls Li"V gqvk gS fd 'khykHkV~Vkfjdk 

lR;J;k dh iq=kh Fkh rFkk lR;J;k iqydsf'ku f}rh; 

ls lacaf/r FksA

	 3-	 'khykHkV~Vkfjdk dh jpuk,¡ ikapkyh 'kSyh dk ikyu 

djrh gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2  	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 3 	 (d)	1] 2 vkSj 3

	70-	fuEufyf[kr esa ls fdl e`naxe dykdkj dk gky gh esa 

fu/u gks x;k\

	 (a)	 djkbZdqM+h vkj- ef.k

	 (b)	 ;sYyk osadVs'oj jko

	 (c)	 xq#ok;wj nksjkbZ

	 (d)	 funqeksyq lqefr

	71-	Hkkjrh; varfj{k çkS|ksfxdh esa uokpkj ls lacaf/r 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bljks ds jkWdsV ifjokj esa uohure lnL; rhu 

pj.kksa okyk y?kq mixzg ç{ksi.k ;ku gSA

	 2-	 bljks us 6000 fdyksxzke ds mixzg dks 1 fdyksokV 

'kfDr ds lkFk cukus dh {kerk esa egkjr gkfly 

dj yh gSA

	 3-	 bljks ds }kjk 2022 esa gkbijlksfud ,;j czhfnax 

batu dk liQy ijh{k.k fd;k x;kA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	 3.	 Geomagnetic storms increase aurora activity.

	 4.	 Recently, the Indian Astronomical Observatory 
captured this event near Ladakh.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two

	 (c)	 Only three	 (d)	 All four

	 68.	 Which of the following country's parliament 
recently passed the world's strictest anti-LGBTQ 
law?

	 (a)	 Pakistan	 (b)	 Iran

	 (c)	 Uganda	 (d)	 Kenya

	 69.	 Consider the following statements:
	 1.	 The Rang Ghar built by Swargadev Promotta 

Singha is called the first pavilion of Asia.

	 2.	 Recent  research  has  c la r i f ied  tha t 
Shilabhattarika was the daughter of 
Satyashraya and Satyashraya was related to 
Pulakeshin II.

	 3.	 Shilabhattarika's compositions follow the 
Panchali style.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only  	 (b)	 2 and 3 only

	 (c)	 3  only 	 (d)	 1, 2 and 3

	 70.	 Which of the following Mridangam artist passed 
away recently?

	 (a)	 Karaikudi R. Mani

	 (b)	 Yella Venkateswara Rao

	 (c)	 Guruvayur Dorai

	 (d)	 Nidumolu Sumathi

	 71.	 Consider the following statements related to 
innovation in Indian space technology:

	 1.	 The latest member in ISRO's rocket family 
is the three-stage Small Satellite Launch 
Vehicle.

	 2.	 ISRO has mastered the capability to make a 
6000 kg satellite with 1 kW power.

	 3.	 ISRO successfully tested hypersonic air 
breathing engine in 2022.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two

	 (c)	 All three	 (d)	 None
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	72-	Hkkjr esa ,MVsd {ks=k dh {kerk ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g eYVhehfM;k xzkfiQDl vkSj baVj,fDVo rÙoksa 
ds lkFk vkWuykbu :i ls lh[kus dh çfØ;k dks 
vkSj vf/d vkd"kZd cukrk gSA

	 2-	 ,MVsd dh ykxr&çHkko'khyrk Nk=kksa dks muds vkSj 
çhfe;e f'k{kdksa ds chp ds is&okWy dks c<+krh 
gS vkSj yfuZax dh ;g opZqvy çÑfr HkkSxksfyd 
ck/kvksa dk nk;jk c<+k nsrh gSA

	 3-	 Hkkjr esa baVjusV ,Dlsl okys cPpksa ds chp ,MVsd 
dh orZeku igq¡p fliQZ 25 çfr'kr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3 	 (d)	1] 2 vkSj 3

	73-	vk;q"eku Hkkjr fMftVy fe'ku ls lacaf/r fuEufyf[kr 
dFkuksa ij fopkj dhft;s% 

	 1-	 bl fe'ku ds rgr ukxfjd viuk vk;q"eku Hkkjr 
LokLF; [kkrk la[;k çkIr dj ldsaxs] ftlls muds 
fMftVy LokLF; fjdkWMZ dks tksM+k tk ldsxkA

	 2-	 bldh dk;kZUo;u ,tsalh foKku ,oa çkS|ksfxdh 
ea=kky;  ds rgr LFkkfir jk"Vªh; LokLF; çkf/dj.k 
(NHA) gksxhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	74-	DokaVe daI;wfVax ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s% 

	 1-	 ;g 10&10m vkSj mlds uhps ds iSekuksa ij dk;Z 
djrh gSA

	 2-	 DokaVe daI;wVj D;qfcV~l (Qubits) ds vk/kj ij 
x.kuk djrs gSa vkSj MsVk laxzg.k djrs gSaA

	 3-	 DokaVe daI;wVj dk viuk ,d vyx çksxzke gksrk gS 
vkSj blesa D;qfcV~l (Qubits) ds dbZ lsV gksrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	75-	5G usVodZ ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g çfr bdkbZ {ks=kiQy esa vf/d cSaM foM~Fk 
miyC/ djok,xkA

	 2-	 5G usVodZ ij ÅtkZ [kir 90» de gksxkA
	 3-	 5G ls vkSlr MkVk nj 50 esxkfcV~l çfr lsdsaM 

gksxh vkSj ;g c<+dj 10 xhxkfcV~l çfr lsdsaM 
gks ldrh gSA

	 72.	 With reference to the potential of EdTech sector 
in India, consider the following statements:

	 1.	 It makes the online learning process more 
engaging with multimedia graphics and 
interactive elements.

	 2.	 The cost-effectiveness of edtech allows 
students to bridge the pay-wall between them 
and premium educators, and the virtual nature 
of learning transcends geographic barriers.

	 3.	 The current penetration of edtech among 
children with internet access in India is just 
25 percent.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 73.	 Consider the following statements related to 

Ayushman Bharat Digital Mission:
	 1.	 Under this mission, citizens will be able to 

get their Ayushman Bharat health account 
number, which can be linked to their digital 
health records.

	 2.	 Its implementing agency will be the National 
Health Authority (NHA) set up under the 
Ministry of Science and Technology.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 74.	 With reference to Quantum Computing, consider 

the following statements:
	 1.	 It works on scales of 10-10m and below.
	 2.	 Quantum computers calculate and store data 

on the basis of qubits.
	 3.	 A quantum computer has its own separate 

program and consists of several sets of qubits.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 75.	 With reference to 5G network, consider the 

following statements:
	 1.	 This will provide more bandwidth per unit 

area.
	 2.	 Energy consumption on the 5G network will 

be 90% less.
	 3.	 The average data rate from 5G will be 50 

megabits per second and it can increase to 10 
gigabits per second.
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	 4-	 Hkkjr esa 5G lsok dh 'kq#vkr vDVwcj] 2021 esa 
gqbZA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 dsoy rhu	 (d)	lHkh pkj

	76-	fuEufyf[kr LFkyksa ij fopkj dhft;s%

	 1-	 fr#ifr	 2-	uSuh
	 3-	 egkcyhiqje	 4-	vkxjk
	 5-	 ,ukZdqye	 6-	rkt xat

	 	mi;ZqDr LFkyksa esa ls dkSu&ls ,d gh LFkku ij f'kYi 
vkSj i;ZVu dks c<+kok nsus ds fy;s fyafdax VsDlVkby 
foFk VwfjTe igy ds rgr p;fur f'kYixzke gSa\

	 (a)	 dsoy 1] 2] 3 vkSj 6
	 (b)	 dsoy 2] 4 vkSj 5
	 (c)	 dsoy 2] 3] 4] 5 vkSj 6
	 (d)	 dsoy 1] 2] 3] 4 vkSj 5

	77-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 la;qDr jk"Vª fo'o i;ZVu laxBu us Hkkjr ds rsyaxkuk 
jkT; ds ikspeiYyh xk¡o dks loZJs"B i;ZVu xk¡o 
dh iQsgfjLr esa 'kkfey fd;k gSA

	 2-	 ikspeiYyh gFkdj?kk ikdZ dh LFkkiuk 2016 esa 
dh xbZ FkhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	78-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

      (th-vkbZ- VSx çkIr mRikn)     (jkT;)  
 	 1-	 ck¡l dyk         	 &	 v#.kkpy çns'k
	 2-	 dBiqryh	 &	 xqtjkr
	 3-	 'ka[k mRikn	 &	 vksfM'kk

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	79-	Hkkjr ds mÙkj&iwoZ ds cqukbZ vkSj d<+kbZ ls lac¼ 
gLrf'kYi ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 vle dh vkaæsrrk dyk feV~Vh ds crZuksa dh 
dykdkjh ds fy;s tkuh tkrh gSA

	 2-	 flfDde ds lkekU; ?kjsyw gFkdj?kk esa es[kyk 
pknj] xekspk vkfn çeq[k gSaA

	 3-	 es?kky; esa Hkjk uked taxyh ?kkl dh Nky ls 
pVkbZ] gkFk ds ia[ks] lwi vkfn dk fuekZ.k fd;k 
tkrk gSA

	 4.	 5G service in India started in October, 2021.
		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 76.	 Consider the following places:
	 1.	 Tirupati	 2.	 Naini
	 3.	 Mahabalipuram	 4.	 Agra
	 5.	 Ernakulam	 6.	 Taj Ganj
		  Which of the above mentioned sites are the selected 

Shilpgrams under Linking Textiles with Tourism 
initiative to promote crafts and tourism at one 
place?

	 (a)	 1, 2, 3 and 6 only
	 (b)	 2, 4 and 5 only
	 (c)	 2, 3, 4, 5 and 6 only
	 (d)	 1, 2, 3, 4 and 5 only
	 77.	 Consider the following statements:
	 1.	 United Nations World Tourism Organization 

has included Pochampally village in 
Telangana state of India in the list of best 
tourism villages.

	 2.	 Pochampally Handloom Park was established 
in 2016.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 78.	 Consider the following pairs:
      (Products with G.I. Tag)		        (State)
	 1.	 Bamboo Art	 -	 Arunachal Pradesh
	 2.	 Puppet	 -	 Gujarat
	 3.	 Shellfish Products	 -	 Odisha
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 79.	 With reference to the weaving and embroidery 

related handicrafts of the North-East of India, 
consider the following statements:

	 1.	 The Andretta art of Assam is known for its 
pottery.

	 2.	 Mekhla Chadar, Gamocha etc. are prominent 
among the common domestic handlooms of 
Sikkim.

	 3.	 In Meghalaya, mats, hand fans, soup etc. are 
made from the bark of a wild grass called 
Bhara.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	80-	fuEufyf[kr ;qXeksa ij fopkj dhft;s% 

   	 	 (egÙoiw.kZ IysVsa)         (fLFkfr)
	 1-	 utdk IysV          &	nf{k.k vesfjdk vkSj 	

		 	ç'kkar egklkxjh; 	
		 	IysV ds chp

	 2-	 dSjksfyu IysV       	 &	fiQfyfi;u vkSj 	
		 	bafM;u IysV ds chp

	 3-	 Ý;wth IysV          	&	,f'k;k egk}hi vkSj 	
		 	ç'kkar egklkxjh; 	
		 	IysV ds chp

     mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\
	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	81-	lafo/ku ds fdl vuqPNsn esa vuqlwfpr tkfr rFkk 
vuqlwfpr tutkfr ls lacaf/r ifjHkk"kk nh xbZ gS\

	 (a)	 vuqPNsn&341	 (b)	vuqPNsn&342
	 (c)	 vuqPNsn&338	 (d)	vuqPNsn&366

	82-	iapk;r mica/ (vuqlwfpr {ks=kksa rd foLrkj) vf/fu;e 
(islk) ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g vf/fu;e ik¡poha vuqlwph ds varxZr lfEefyr 
jkT;ksa vle] es?kky;] f=kiqjk vkSj fetksje ds 
vuqlwfpr {ks=kksa ds vuqlwfpr tutkfr;ksa ij ykxw 
gksrk gSA

	 2-	 xzke lHkk dks vius xk¡o dh lhek ds Hkhrj u'khys 
inkFkks± ds fuekZ.k] ifjogu] fcØh vkSj [kir dh 
fuxjkuh rFkk fu"ks/ djus dh 'kfDr;k¡ çkIr gksaxhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2	

	83-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

           (vf/fu;e)       (ftl o"kZ ikfjr gqvk)  
	 1-	 ekr`Ro ykHk vf/fu;e 	 &	 1961
	 2-	 ?kjsyw fgalk ls efgykvksa	 &	 2007
	 	 dk laj{k.k
	 3-	 dk;ZLFky ij efgykvksa	 &	 2003
	 	 dk ;kSu mRihM+u
	 	 (jksdFkke] çfr"ks/ vkSj fuokj.k)

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 80.	 Consider the following pairs:
		  (Important plates)		  (Position)
	 1.	 Nazca Plate	 -	� Between South 

America and the 
Pacific Ocean Plate

	 2.	 Caroline Plate	 -	� Between the 
Philippian and the 
Indian Plate

	 3.	 Fuji Plate	 -	� Between the Asia 
continent and the 
Pacific Ocean plate

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 81. 	In which article of the constitution the definition 

related to Scheduled Castes and Scheduled Tribes 
has been given?

	 (a)	 Article-341	 (b)	 Article-342
	 (c)	 Article-338	 (d)	 Article-366
	 82.	 With reference to the Panchayat Provisions 

(Extension to the Scheduled Areas) Act (PESA), 
consider the following statements:

	 1.	 The Act applies to Scheduled Tribes in the 
Scheduled Areas of the States of Assam, 
Meghalaya, Tripura and Mizoram included 
under the Fifth Schedule.

	 2.	 The Gram Sabha will have the powers 
to monitor and prohibit the manufacture, 
transport, sale and consumption of intoxicating 
substances within the limits of their village.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 83.	 Consider the following pairs:
		           (Act)              (Year passed)
	 1.	 Maternity Benefit Act	 -	 1961
	 2.	 Protection of women	 -	 2007	

from domestic violence
	 3.	 Sexual Harassment of	 -	 2003	

Women at Workplace
		  (Prevention, Prohibition			 

and Redressal)
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    mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	84-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 vuqPNsn&338B ds rgr jk"Vªh; fiNM+k oxZ vk;ksx 
dk xBu fd;k x;kA

	 2-	 vuqPNsn&342 jk"Vªifr dks fdlh jkT; ;k dsaæ 
'kkflr çns'k ds laca/ esa lkekftd vkSj 'kSf{kd 
:i ls fiNM+s oxks± dks fufnZ"V djus dk vf/dkj 
nsrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	85-	Cyw gksy ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 nqfu;k dk lcls xgjk Cyw gksy ;qdkVu çk;}hi 
ds rV ij psrqey [kkM+h esa [kkstk x;k gSA

	 2-	 ;g leqæ ds uhps [kM+h xqiQk,¡ ;k fladgksy gksrh gSaA
	 3-	 Cyw gksy nqfu;k Hkj ds rVh; vkæZHkwfe {ks=kksa ds 

fudV ik, tkrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh ugha gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	86-	fBDls; eB fuEufyf[kr esa ls dgk¡ fLFkr gS\

	 (a)	 flfDde	 (b)	mÙkjk[kaM
	 (c)	 yn~nk[k	 (d)	v#.kkpy çns'k

	87-	rqaxukFk eafnj ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s% 

	 1-	 ;g nqfu;k dk lcls mQ¡pk f'ko eafnj gSA
	 2-	 bls 8oha 'krkCnh esa dR;qjh 'kkldksa us cuok;k FkkA
	 3-	 ;g cæh&dsnkj lfefr ç'kklu ds v/hu gSA

     mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	88-	dk;ZLFky ij ;kSu mRihM+u ls lacaf/r fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 varjkZ"Vªh; Je  laxBu ds }kjk o"kZ 2022 esa tkjh 
fjiksVZ ds vuqlkj fo'o esa 6-3» ;k 205 fefy;u 
deZpkjh dk;ZLFky ij ;kSu fgalk ;k mRihM+u dk 
lkeuk djrs gSaA

	 2-	 Hkkjr esa dk;ZLFky ij ;kSu mRihM+u lafo/ku ds 
dsoy vuqPNsn&19 dk mYya?ku ekuk x;k gSA

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 84.	 Consider the following statements:
	 1.	 The National Backward Classes Commission 

was formed under Article-338B.
	 2.	 Article-342 empowers the President to specify 

socially and educationally backward classes 
in relation to any state or union territory.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 85.	 With reference to Blue Hole, consider the following 

statements:
	 1.	 The world's deepest blue hole has been 

discovered in Chetumal Bay off the coast of 
the Yucatan Peninsula.

	 2.	 These are vertical caves or sinkholes under 
the sea.

	 3.	 Blue holes are found near coastal wetland 
areas around the world.

		  Which of the above statements are not correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 86.	 Where among the following is Thiksey Monastery 

situated?
	 (a)	 Sikkim	 (b)	 Uttarakhand
	 (c)	 Ladakh	 (d)	 Arunachal Pradesh
	 87.	 With reference to Tungnath Temple, consider the 

following statements:
	 1.	 This is the highest Shiva temple in the world.
	 2.	 It was built by the Katyuri rulers in the 8th 

century.
	 3.	 I t  i s  under  Badri-Kedar  commit tee 

administration.
     How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 88.	 Consider the following statements regarding sexual 

harassment at workplace:
	 1.	 According to the report released by the 

International Labor Organization in the year 
2022, 6.3% or 205 million workers in the 
world face sexual violence or harassment at 
the workplace.

	 2.	 In India, sexual harassment at workplace is 
considered a violation of only Article-19 of 
the Constitution.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2

	89-	Hkkjr esa nwjlapkj m|ksx dh fLFkfr ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 o"kZ 2020&2021 esa nwjlapkj m|ksx us Hkkjr ds 

ldy ?kjsyw mRikn esa 6» dk ;ksxnku fn;k gSA

	 2-	 Hkkjr oSf'od Lrj ij ;w,l, ds ckn nwljk lcls 

cM+k MsVk miHkksDrk gSA

	 3-	 baVjusV vk/kfjr vksoj&n&VkWi nwjlapkj lsokvksa dks 

fofu;fer djus ds fy;s Hkkjrh; nwjlapkj fo/s;d 

çLrko] 2020 tkjh fd;k x;k gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	90-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 IysusVjh ckmaMªht i;kZoj.kh; lhekvksa dh çHkkoh 

lhek gS] tks ekuork ds fy;s lqjf{kr lapkyu LFkku 

dks ifjHkkf"kr djrh gSA

	 2-	 tyok;q ifjorZu] tSo fofo/rk gkfu] Hkwfe mi;ksx 

ifjorZu vkSj Hkw&jklk;fud pØ tSls IysusVjh 

ckmaMªht çHkkoh lhek dks ikj dj pqds gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	91-	iks"k.k Hkh] i<+kbZ Hkh dk;ZØe ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 bl dk;ZØe ds ekè;e ls cPpksa dks nSfud vk/kj 

ij de ls de nks ?kaVs dh mPp xq.koÙkk okyh 

vkjafHkd fo|ky;h f'k{kk çnku dh tk,xhA

	 2-	 vkaxuckM+h dsaæksa dks mPp xq.koÙkk okys cqfu;knh 

<k¡ps] [ksy ds midj.k rFkk çf'kf{kr vkaxuckM+h 

f'k{kdksa@dk;ZdÙkkZvksa ds lkFk l'kDr cuk;k tk,xkA

	 3-	 ;g ekr`Hkk"kk esa lh[kus ,oa fl[kkus gsrq vkaxuckM+h 

lsfodkvksa dks fofHkUu çdkj ds f'k{k.k vf/xe 

lkekxzh çnku djsxkA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks

	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 89.	 With reference to the state of Telecom industry in 

India, consider the following statements:
	 1.	 Telecom communication industry has 

contributed 6% to India's GDP in the year 
2020-2021.

	 2.	 India is the second largest data consumer 
globally after USA.

	 3.	 The Indian Telecom Bill Proposal, 2020 has 
been released to regulate internet-based over-
the-top telecom services.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 90.	 Consider the following statements:
	 1.	 Planetary boundaries are the effective limits 

of environmental boundaries, which define 
the safe operating space for humanity.

	 2.	 Planetary boundaries such as climate change, 
biodiversity loss, land use change and 
geochemical cycles have crossed effective 
limits.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 91.	 With reference to the program Poshan Bhi Padhai 

Bhi, consider the following statements:
	 1.	 Through this programme, children will be 

provided with at least two hours of high 
quality elementary school education on a daily 
basis.

	 2.	 Anganwadi centers will be empowered with 
high quality infrastructure, sports equipment 
and trained Anganwadi teachers/workers.

	 3.	 It will provide various types of teaching 
learning material to Anganwadi workers for 
learning and teaching in mother tongue.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
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	92-	[kklh fgYl Lok;Ùk f”kyk ifj"kn ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g lafo/ku dh ik¡poha vuqlwph ds rgr ,d 
fudk; gSA

	 2-	 ;g fo'ks"k çko/ku lafo/ku ds vuqPNsn&244 (2) 
vkSj 275 (1) ds rgr çnku fd;k x;k gSA

	 3-	 blesa dkuwu cukus dh 'kfDr fufgr gSA

    mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	93-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 1-	 Hkkx A – fczfV'k Hkkjr ds ukS rRdkyhu xouZj jkT;
	 2-	 Hkkx B– fo/kf;dkvksa ds lkFk ukS iwoZorhZ fj;klrsa
	 3-	 Hkkx C – dsoy vaMeku vkSj fudksckj }hi lewg
	 4-	 Hkkx D – rRdkyhu eq[; vk;qDr ds varxZr fczfV'k 

Hkkjr ds çkar vkSj dqN iwoZorhZ fj;klrsa

	 	mi;ZqDr esa ls fdrus ;qXe o"kZ 1949 esa Hkkjrh; lafo/ku 
viuk, tkus ds le; dh fLFkfr ds vuqlkj lgh 
lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 dsoy rhu	 (d)	lHkh pkj

	94-	vusdkarokn n'kZu lacaf/r gS&

	 (a)	 tSfu;ksa ls	 (b)	ckS¼ksa ls
	 (c)	 'kSo ls	 (d)	oS".ko ls

	95-	ef.kiqj ds HkkSxksfyd vkSj tkrh; ifjn`'; ls lacaf/r 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bEiQky ?kkVh jkT; ds 20» {ks=kiQy ij iQSyh gS vkSj 
;gk¡ eSrsbZ leqnk; ds yxHkx 40» yksx jgrs gSaA

	 2-	 ef.kiqj dk 80» Hkkx igkM+h gS] tgk¡ dsoy dqdh 
tutkfr ds yksx jgrs gSaA

	 3-	 ef.kiqj esa eSrsbZ leqnk; ds vf/dka'k yksx fganw 
gSa vkSj 33» vuqlwfpr tutkfr;k¡ bZlkbZ /eZ dks 
ekurh gSaA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 lHkh rhu	 (d)	dksbZ Hkh ugha

	96-	dekaMj lkbcj vkWijs'kal ,aM liksVZ foaXl ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g dsaæh; fj”koZ iqfyl cy dh ,d fo'ks"k bdkbZ 
gksxh] tks lkbcj lqj{kk ls tqM+s vfHk;kuksa esa lgk;rk 
djsxhA

	 2-	 ;g dsaæh; fj”koZ iqfyl cy esa usVodZ dh lqj{kk 
vkSj lkbcj çfrj{kk ra=k dks etcwrh çnku djsxhA

	 92.	 With reference to Khasi Hills Autonomous District 
Council, consider the following statements:

	 1.	 It is a body under the Fifth Schedule of the 
Constitution.

	 2.	 This special provision has been provided 
under Article-244 (2) and 275 (1) of the 
Constitution.

	 3.	 It has the power to make laws.
		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 93.	 Consider the following pairs:
	 1.	 Part A - The Nine Former Governor's States 

of British India
	 2.	 Part B – Nine Former Princely States with 

Legislatures
	 3.	 Part C – Andaman and Nicobar Islands only
	 4.	 Part D - Provinces of British India under the 

then Chief Commissioner and certain former 
princely states

		  How many of the above pairs are correctly matched 
according to the situation at the time of the adoption 
of the Indian Constitution in the year 1949?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 94.	 Anekantavada philosophy is related to-
	 (a)	 Jains	 (b)	 Buddhists
	 (c)	 Shaiva	 (d)	 Vaishnava
	 95.	 With reference to the geographical and ethnic 

landscape of Manipur, consider the following 
statements:

	 1.	 The Imphal Valley covers 20% of the state's 
area and is home to about 40% of the Meitei 
community.

	 2.	 80% of Manipur is hilly and is inhabited only 
by the Kuki tribe.

	 3.	 The majority of the Meitei community 
in Manipur are Hindus and 33% of the 
Scheduled Tribes follow Christianity.

		  How many of the above statements are correct?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 96.	 With reference to Commander Cyber Operations 

and Support Wings, consider the following 
statements:

	 1.	 It will be a specialized unit of the Central 
Reserve Police Force, which will assist in 
cyber security operations.

	 2.	 It will strengthen the network security and 
cyber defense mechanism in the Central 
Reserve Police Force.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2

	97-	fuEufyf[kr esa ls fdl jkT; ljdkj ds }kjk jkT; esa 

m|fe;ksa ds fy;s fuos'k dh çfØ;k dks lqxe cukus gsrq 

Hkkjr vkSj fo'o ds 'kh"kZ f'k{k.k laLFkkuksa ls is'ksoj yksxksa 

dks m|eh fe=k ds :i esa fu;qDr fd;k tk,xk\

	 (a)	 mÙkj çns'k	 (b)	xqtjkr
	 (c)	 jktLFkku	 (d)	eè; çns'k

	98-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

		 dFku&I % Hkkjr oSf'od nw/ mRiknu esa yxHkx 23» 
fgLls ds lkFk nwljs LFkku ij gSA       

		 dFku&II % nqfu;k dh lcls cM+h xks&tkrh; vkcknh 

Hkkjr esa fLFkr gSA

	 	mi;ZqDr dFkuksa ds ckjs esa] fuEufyf[kr esa ls dkSu&lk 

,d lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k gSA 

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k ugha gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II xyr gSA
	 (d)	 dFku&I xyr gS] fdarq dFku&II lgh gS

	99-	foKku oSHko iksVZy ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1-	 bafnjk xka/h jk"Vªh; dyk dsaæ }kjk jchaæ t;arh ds 

volj ij foKku oSHko iksVZy dk 'kqHkkjaHk fd;k 

x;kA

	 2-	 ;g 105 Hkkjrh; oSKkfudksa dks lefiZr gSA

	 3-	 ;g iksVZy leku la[;k esa efgykvksa vkSj iq#"kksa ds 

;ksxnku dh igpku djrk gSA

    mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	100-	fuEufyf[kr jkT;ksa ij fopkj dhft;s%

	 1-	 eè; çns'k	 2-	mÙkj çns'k
	 3-	 vksfM'kk	 4-	fcgkj

	 	mi;ZqDr esa ls fdu jkT;ksa dks cjkSuh&xqokgkVh ikbiykbu 

tksM+sxh\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2] 3 vkSj 4
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2] 3 vkSj 4

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 97. 	Which of the following state governments will 

appoint professionals from top educational 
institutions of India and the world as Udyami 
Mitras to facilitate the investment process for 
entrepreneurs in the state?

	 (a)	 Uttar Pradesh	 (b)	 Gujarat
	 (c)	 Rajasthan	 (d)	 Madhya Pradesh
	 98.	 Consider the following statements:
		  Statement-I : India ranks second in global milk 

production with about 23% share.
		  Statement-II : The largest bovine population of 

the world is located in India.
		  With respect to the above statements, which one 

of the following is correct?
	 (a)	 Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation for 
Statement-I

	 (b)	 Both Statement-I and Statement-II are correct 
and Statement-II is not the correct explanation 
for Statement-I

	 (c)	 Statement-I is correct but Statement-II is 
incorrect

	 (d)	 Statement-I is incorrect, but statement-II is 
correct

	 99.	 With reference to Vigyan Vaibhav Portal, consider 
the following statements:

	 1.	 Vigyan Vaibhav Portal was launched by Indira 
Gandhi National Center for the Arts on the 
occasion of Rabindra Jayanti.

	 2.	 It is dedicated to 105 Indian scientists.
	 3.	 This portal recognizes the contribution of 

women and men in equal numbers.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	100.	 Consider the following states:
	 1.	 Madhya Pradesh	 2.	 Uttar Pradesh
	 3.	 Odisha	 4.	 Bihar
		  Barauni-Guwahati pipeline will connect which of 

the above states?
	 (a)	 1 and 2 only	 (b)	 2, 3 and 4 only
	 (c)	 1 and 3 only	 (d)	 1, 2, 3 and 4


